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Time -3 Hour.

Answer all Eight question each carries ONE mark. 
1 A person who owes money to the business is a ……..
2 Companies must prepare financial statement at least yearly due to the ….. assumption.
3 The purchase day book contains…...
4 Sale of machinery is credited to sales a/c is an error of …….
5 Capital profits are used to create ……...

6 The maker of the bill of exchange is called ……
7 Income and expenditure account is a ….. account.

8 The receipt and payment account contains …….. Items.
1x8=8
Answer all Six questions each carries THREE mark. 
9 State the difference between accounting and book keeping? ( 2 differences)
10 What do you mean by ledger?
11  What is fixed asset give two examples?
12   What is a non trading concern give example?
13   List out any three limitations of computers. 

14 What is statement of affairs.

3x6 = 18
Answer all 6questions each carries FOUR mark.   (6*4 =24)
15 Rectify the following errors by giving corresponding entries

a) 
Purchase of machinery from Tata Ltd for Rs 30,000 is recorded in purchase day book.
b) 
Goods sold to Renjith for Rs 500 has been wrongly recorded in purchase day book.

c)
 Private expenses Rs 200 is debited to Trade expenses account.

d)
Rent paid to landlord is debited to landlords account.

16 What are the advantages of accounting?
17 On 1-1-2010 Reliance industries purchased machinery for Rs 25,000 and spend Rs 2000 for its installation. Show machinery account for 2010,2011 and 2012 if the company writes off depreciation at 20% p.a on diminishing balance method.

18 Calculate expenses incurred for the year 2011 from the following informations.
Expenses paid during the year 2011    - 9500

Expenses outstanding 1-1-2011   
- 3000

Expenses outstanding 31-12-2011    - 4500

Expenses paid in advance on 1-1-2011 – 2000

Expenses paid in advance on 31-12-2011 – 3000.

19 What do you mean by journal proper? Which are the entries normally appearing in journal proper?

20 Calculate credit purchases by preparing total creditors account.

Creditors opening balance – Rs 7200

Cash paid to creditors during the year – Rs 36,500

Cheque issued to creditors – Rs 24,000

Discount allowed by creditors – 2500

Bills payable accepted during the year – Rs 12,500

Goods returned to creditors – Rs 3,200.

Creditors closing balance – Rs 8600.

Answer all Four questions each carries six mark.
21 Rahul Bajaj sold goods to Anand Mahindra for Rs 2,70,000 on 1-1-2007 and immediately drawn a bill for 4 months upon Anand Mahindra for the same amount and Anand Mahindra accepted the bill and returned the bill to Rahul bajaj. On the 4th February 2011, Anand retires his acceptance under a rebate of 12% p.a . Give journal entry in the books of Rahul bajaj.
22 Prove that the accounting equations is satisfied in all the following transactions of Mr Mukesh.
Commenced business with cash Rs 20,000.

Goods purchased for cash Rs 8000.

Bought furniture Rs 3000.

Purchased furniture on credit Rs 7000.

Cash paid to creditors Rs 4000.

Paid salary Rs 500.

Received commission Rs300.

Withdraw for personal purpose Rs 400.

23 What is the difference between computerized accounting and Manual accounting?
24 Sunil keeps incomplete records, you are required to ascertain the profit or loss for the year ending 31-03-2011 from the following information.
	Items
	01-04-2010
	31-03-2011

	Cash in hand
	500
	700

	Sundry debtors
	5,500
	3,500

	Sundry creditors
	4,000
	7,000

	Stock
	3,500
	3,750

	Land & Building
	6,000
	6,000


4x6 = 24
He had withdrawn Rs 5,000 during the year and had introduced Rs 4000 from the sale of his personal property.
Answer  Two questions each carries eight mark. 
24
The following is the trial balance of Mr Laxmi Narayan as on 30th June 2010

	Particulars
	Debit
	Credit

	Capital and Drawings
	10,550
	1,19,400

	Bills receivable
	9500
	

	Purchases and sales
	2,65,590
	3,56,430

	Returns inwards
	2,780
	

	Opening stock
	89,680
	

	Commision
	
	5640

	Plant and machinery
	28,800
	

	Salaries
	11,000
	

	Travelling expenses
	1,880
	

	Debtors
	62,000
	

	Stationery
	2,000
	

	Travelling charges
	1,370
	

	Interest and Discount
	5,870
	

	Bad debts
	3,620
	

	Furniture and fittings
	8,970
	

	Creditors
	
	56,630

	6% Loan
	
	20,000

	Wages
	40,970
	

	Cash in hand
	530
	

	Cash at bank
	18,970
	

	Insurance ( Including premium Rs300 p.a paid upto 31 dec 2010.
	400
	

	Rent and taxes
	5,620
	

	Total
	5,61,100
	5,61,100

	
	
	


Adjustments

a)Stock in hand on 30th june 2010 was Rs 1,28,960.

b)Write off further bad debts Rs 1000.

c) Create 5% provision on debtors

d) Wages include Rs 1,200 for installation of machinery 

e)  Depreciation Plant and machinery 5% and furniture 10%.

f)  Commission accrued Rs 600.

g) Interest on loan for the last two months is not paid.

You are required to prepare the Trading anf Profit and loss account and also Balance sheet as on 30.06.2007.

23

Explain all accounting concepts and conventions

 








8x2 =16
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